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18. 다음 글의 빈칸 (A), (B)에 들어갈 말로 가
장 적절한 것은?1)

(A) (B)

① misleading ‧‧‧‧‧‧ hatred

② misleading ‧‧‧‧‧‧ narrow-mindedness

③ agreeable ‧‧‧‧‧‧ hatred

④ agreeable ‧‧‧‧‧‧ narrow-mindedness

⑤ agreeable ‧‧‧‧‧‧ jealousy

19. (A), (B), (C)의 각 네모 안에서 어법에 맞
는 표현으로 가장 적절한 것은?2)

We need to remind ourselves that the 
assumption that the group's decision or solution 
is the best can be ___(A)___. The group needs 
to challenge the myth of "our solution is the 
best." It would be of greater value for group 
members to adopt a more temporary attitude or 
approach to their solution by saying, "This is 
the best solution we can come up with at the 
moment. But we are staying open to the 
possibility of discovering other solutions, maybe 
even better solutions, in the days to come." 
This attitude of openness and discovery rather 
than ___(B)___, will keep the group healthy, 
wealthy, and wise. 

One Monday morning, I walked out of my 
apartment to go to work. As I made my way 
to my truck, I found that the entire driver's 
seat (A)[has /had] been severly damaged. I 
knew I had to make it to work, but didn't want 
to take a risk by driving, so I decided to use 
the bus.  As I walked onto my work site, I 
noticed my supervisor looked depressed. I 
thought maybe he'd had a rough night, but it 
turned out (B)[what /that] wasn't the reason for 
his look. He handed out pink slips to the entire 
crew. Our jobs were finished, effective 
immediately. I couldn't believe what I had just 
heard. I was praying that this job would last at 
least one year. I thought there must be a 
reason, especially (C)[giving /given] all that had 
happened to me lately. 

(A) (B) (C)

① has ‧‧‧‧‧‧ what ‧‧‧‧‧‧ given

② has ‧‧‧‧‧‧ that ‧‧‧‧‧‧ giving

③ has ‧‧‧‧‧‧ what ‧‧‧‧‧‧ giving

④ had ‧‧‧‧‧‧ that ‧‧‧‧‧‧ given

⑤ had ‧‧‧‧‧‧ what ‧‧‧‧‧‧ giving
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20. 다음 빈칸에 들어갈 말로 가장 적절한 것을

고르시오.3)

①have others voice their complaints
②keep yourself from talking loudly
③encourage others to stand on their own feet
④let others have more opportunities to speak  
⑤ask others to take every chance they happen to 

face 

21. 다음 글에서 전체 흐름과 관계없는 문장

은?4)

Dolores thought that in her meetings with Sean 
she was taking up more time than was helpful. 
Dolores decided she'd speak only once for 
every two times she wanted to say something. 
Talking less improved their meetings 
significantly, so Dolores often used this 
"speaking ration" when she met with Sean. 
Dolores explained, "Sometimes I spoke twice in 
a row when I felt like it, but I was rigorous in 
sticking to the ratio I set. Sean's a very quiet 
person, so there were some awkward silences, 
especially at first, but it's working well now. 
It's easy to see that Sean feels better about our 
meetings, and he's raised a lot of important 
issues and contributed a number of good ideas 
- things he seldom did before." You need to 
_________ for the productivity of your 
meetings.
 

Problems with a horse's teeth can sometimes 
cause the horse to go off feed even though a 
good-quality food is being fed. ①The teeth 
often wear unevenly and develop sharp edges 
because the upper teeth normally overlap the 
bottom teeth. ②These sharp edges may cut into 
the horse's cheek while chewing, causing pain. 
③Indications of this problem include weight 
loss, dropping liquid or food while eating, and 
a reluctance to eat. ④The teeth should be filed 
with a float, a long-handled rasp with a guard 
to prevent injury to the horse during treatment.  
⑤In addition to the problem with the 
symmetrically worn teeth, milk teeth remaining 
too long lead to permanently strong teeth. 

*rasp: 표면을 다듬는 데 쓰는 줄
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22. 다음 글의 내용을 한 문장으로 요약하고자

한다. 빈칸 (A)와 (B)에 들어갈 말로 가장 적절

한 것은?5)

(A) (B)

① assured ‧‧‧‧‧‧ activated

② assured ‧‧‧‧‧‧ shrunk

③ unsettled ‧‧‧‧‧‧ activated

④ unsettled ‧‧‧‧‧‧ shrunk

⑤ unsettled ‧‧‧‧‧‧ troubled

23. 글의 흐름으로 보아, 주어진 문장이 들어가

기에 가장 적절한 곳을 고르시오.6)

When you are upset at the dinner table, your 
digestive system no longer has as much blood 
as it needs for proper digestion. Your limbic 
system sends blood from your digestive system 
to your heart and limb muscles to prepare for 
your escape. The upset stomach you feel is a 
symptom of that limbic arousal. The next time 
an argument ensues during a meal, you will 
recognize the limbic response of distress. A 
child whose parents fight at the dinner table 
really can't finish his meal; his limbic system 
warns the digestive system to prepare him for 
escape and survival. Along these lines, it is 
interesting to note how many people vomit after 
experiencing a traumatic event. In essence, 
during emergencies the body is saying that 
there is no time for digestion; the reaction is to 
lighten the load and prepare for escape.  

We plant more than 30 vegetable varieties each 
year. Packets of seeds that once cost a dime 
now sell for $3 apiece. ①Our yearly seed bill 
would be about $10 if we didn't save our own 
seeds. ②It could be argued that investing $100 
to produce a year's supply of vegetables for 
two people is a good value. ③But why do you 
spend the money if you can save your specially 
selected seeds easily for nothing but a few 
minutes of your time? ④There are good 
reasons to suspect that the relative cost of 
seeds will increase in the next few decades. ⑤
Thus, be ready for it and develop your 
seed-saving skills now. 

Considering that we get indigestion the moment 
we feel ___(A)___, our stomach is ___(B)___ , 
which is the result of us being ready for 
escape from depressing situations   

Besides, a packet of seeds may cost $3 now, 
but how much might it cost 10 years from 
now?
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24. 다음 글의 제목으로 가장 적절한 것을 고르

시오.7)

①How Donkeys Survive Inhabitable environment
②Descendants of Donkeys: African Wild Donkeys
③African Wild Donkeys' Sophisticated Method of 

Getting Water  
④African Wild Donkeys: What Led them to Near 

Extinction
⑤African Wild Donkeys' Competitive Edge over 

Other species for Survival

25. 그래프(생략)

26. Teen Book Club에 관한 다음 안내문의 내용

과 일치하는 것은?(생략)

27. Spanish with Sarah에 관한 다음 안내문의 내

용과 일치하지 않는 것은?(생략)

The African wild donkey, the wild ancestor of 
the donkey, once lived across northern Africa, 
from Morocco to Somalia. The animal has a 
gray back, a white belly, and striped legs. 
African wild donkeys can live on very little 
water. They usually rest under shady bushes in 
the daytime and become more active in the 
evening. In the early 1900s, about ten thousand 
African wild donkeys lived in the stony, dry 
hills of Somalia. But people hunted and killed 
the donkeys for food. The donkeys also had to 
compete for scarce water with herd animals. 
The donkeys began to die out. Eventually, the 
African wild donkey became one of the world's 
rarest animals. In 2002, one scientist estimated 
Somalia's wild donkey population at just ten. 
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28. 다음 글의 내용을 한 문장으로 요약하고자

한다. 빈칸 (A)와 (B)에 들어갈 말로 가장 적절

한 것은?8)

(A) (B)

① behavioral ‧‧‧‧‧‧ consistency

② behavioral ‧‧‧‧‧‧ inconsistency

③ emotional ‧‧‧‧‧‧ consistency

④ emotional ‧‧‧‧‧‧ inconsistency

⑤ emotional ‧‧‧‧‧‧ flexibility

29. 다음 글에 드러난 ‘Pong’의 심경으로 가장 적
절한 것은?9)

① anxious ② fulfilled

③ ashamed ④ bored

⑤ puzzled  

Most people might spend a lot of time thinking 
of the perfect words to say, but never realize 
that their body language and their words are 
sending very different messages. For example, 
suppose that you have had a long, hard day, 
but your friend wants to talk with you about 
something that she is struggling with. You 
obviously care about your friend, so you tell 
her that you want to talk. But if you are 
yawning, looking at the clock, and leaning back 
in your chair during the conversation, your 
friend might conclude that you don't really want 
to talk with her after all. She storms off, and 
you are left wondering if you said wrong. Of 
course, you didn't say anything wrong - that's 
the point! When your words and your body are 
sending different messages, people will tend to 
go with the message that your body is sending. 
If you didn't mean to send the message, trouble 
ensues. 

Little Tony was left with his uncle Pong. His 
parents went shopping in the city. They said to 
Pong. "You take care of him till we are back." 
Pong was watching - Little Tony was playing 
just outside the porch. Suddenly, Tony slipped 
and fell down. He looked all around and 
looked at Pong. Tony waited for a single 
second to feel whether it was worth crying or 
not. But Pong was so neutral, so Tony 
shrugged his shoulders and said to himself: 
"This fellow is not useful." He continued 
playing again. After half an hour when his 
parents arrived, Little Tony started crying. 
Surprised, Pong asked him why he was crying. 
He said, "Half an hour has passed; now it can't 
be hurting." Then Little Tony said, "That's not 
the question. You looked at me with such 
unfeeling eyes, so I thought, 'Crying is useless.' 
Now my parents have come, so I cry."    

Whether intended or not, behavioral signal  
convey more influential messages than verbal 
ones when they shows inconsistency with your 
words 
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30.다음 빈칸에 들어갈 말로 가장 적절한 것을

고르시오.10)

①telling what you have in common 
②Worrying about how things will be 
③Insisting on an up-to-date way of life
④Feeling uncomfortable with how things are 

going
⑤staying focused on how things were in those 

days

31. (A), (B), (C)의 각 네모 안에서 문맥에 맞
는 낱말로 가장 적절한 것은?11)

Going down memory lane with people from 
your generation may be fun, but __________ 
can be annoying to people who can't relate. 
When old people talk about their own 
childhood, we often become bored. Remember 
what it felt like every time your father told 
you how in his day he walked five miles to 
school in the snow. Well, that's exactly how a 
younger boss feels when you constantly remind 
him or her of how life was back in the day. 
Delete the following phrases in your 
vocabulary: "In my day," "When I was in 
charge," "We tried that once," "We've never 
done it that way," and anything else that makes 
you sound like you have traveled this road 
before. You are no longer in the driver's seat. 
For this leg of the journey, you are a 
passenger. 

Successful parenting requires knowing your 
children are individuals with good (A)[sympathy 
/awareness]. You can do so by observing them 
at play and work and being sensitive to their 
crying, their speech, and their actions. These 
are the means by which the necessary 
information for training a child can be gathered. 
For example, children cry (B)[differently 
/similarly] according to their perception of the 
justice involved in punishment. When they were 
wrong and they know that they were wrong, 
they cry wrongly. You as a parent must admit 
that  your children have their own capability of 
(C)[perceiving /conceiving] things. This will 
help your children to accept your discipline. 

(A) (B) (C)

① sympathy ‧‧‧‧‧‧ differently ‧‧‧‧‧‧ perceiving

② sympathy ‧‧‧‧‧‧ similarly ‧‧‧‧‧‧ perceiving

③ awareness ‧‧‧‧‧‧ differently ‧‧‧‧‧‧ perceiving

④ awareness ‧‧‧‧‧‧ similarly ‧‧‧‧‧‧ conceiving

⑤ awareness ‧‧‧‧‧‧ differently ‧‧‧‧‧‧ conceiving
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32. 다음 글의 내용을 한 문장으로 요약하고자

한다. 빈칸 (A)와 (B)에 들어갈 말로 가장 적절

한 것은?12)

(A) (B)

① fence ‧‧‧‧‧‧ willingness

② fence ‧‧‧‧‧‧ reluctance

③ fence ‧‧‧‧‧‧ ability

④ locate ‧‧‧‧‧‧ reluctance

⑤ locate ‧‧‧‧‧‧ ability

33.다음 글에서 전체 흐름과 관계없는 문장

은?13)

None of us knows our limits. Borders and 
boundaries may be clear on a map, but when 
we apply them to our lives, the lines aren't so 
apparent. My friend once said he doubted if 
thinking big was realistic. I paused to reflect 
on this and then said, "Let me ask you a 
question first: Do you know what your limits 
are?" "No," was his reply. So I said that it 
seemed his remark was irrelevant. No one 
knows their ultimate ceiling for achievement, so 
worrying about it is a waste of time. What if 
someone told you that you could never achieve 
above a certain level? What if you were 
required to pick an upper limit which you 
could never exceed? What would you pick? A 
low one or a high one? Put in this situation, 
we would all do the same thing - go big. 
Why? It's because you wouldn't want to limit 
yourself. 

One thing is the same, no matter what work 
you do: you will be doing it with other people. 
①Keep it in mind that whomever you work 
with, your technical ability is considered most 
with your profession. ②I think most of us end 
up, one way or another, in the people-pleasing 
business. ③I would stress the importance of 
not only knowing your field and your area of 
interest, but also knowing why other people 
don't act and believe the same way you do. ④
And I know a lot of times at work it is 
frustrating that not everybody sees things the 
way I do. ⑤And yet I've finally learned that 
it's more important to harmonize with others 
than to persuade them, probably against their 
will, to believe what I do. 

Unlike in the maps that ___(A)___ an area of 
land with lines, limits of life is set on the 
basis of ___(B)___ to achieve.
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34. 다음 글의 내용을 한 문장으로 요약하고자

한다. 빈칸 (A)와 (B)에 들어갈 말로 가장 적절

한 것은?14)

(A) (B)

① unrelated ‧‧‧‧‧‧ separated

② unrelated ‧‧‧‧‧‧ connected

③ related ‧‧‧‧‧‧ separated

④ related ‧‧‧‧‧‧ connected

⑤ related ‧‧‧‧‧‧ infected

35. 다음 글의 주제로 가장 적절한 것을 고르시

오.15)

①active life is all around us
②increasing tendency to do less excercise
③avoiding calorie-rich foods in Daily lives
④the best way to lose weight is excercise
⑤increasing awareness of benefits from losing 

weight

Pain is not always helpful in letting you know 
the location of the problem. Sometimes, pain is 
felt in one part of the body, but it is actually 
caused by an injury or illness in another part 
of the body. This is called referred pain. For 
example, the pain associated with a heart attack 
may be felt in the left arm, even though the 
heart is in the chest. A stomach ulcer may be 
perceived as pain in the shoulder. This is 
because during fetal development the nerves 
that attach to different organs come out of the 
spinal cord at levels close to where those 
organs are located in the fetus. However, when 
the organs move to new positions as the fetus 
grows, the attachments that lead from the spinal 
cord stay in the same place. As a result, we 
feel pain as if the affected organs were still 
located where they had been at early stages of 
development.  

Physical activity can be anything from playing 
computer games to running, and even the 
smallest effort - such as getting out of bed - 
counts. In fact, using daily opportunities to 
move your body is the number one way to 
speed up the metabolic rate. So, for anyone 
who wants to lose weight, this is a good place 
to start. There are a lot of day-to-day exercises 
here you can do. If you take the stairs instead 
of the elevator, park the car a ten-minute walk 
from your workplace, or even stand rather than 
sit on the bus, you will easily burn an extra 
hundred calories a day. Over a year, that adds 
up to 36,500 kcal -about the same amount of 
energy as is contained in 5 kilograms of body 
fat. 

Referred pain, caused by a problem with 
seemingly ___(A)___ body parts, is technically 
attributed to nerves that have been ___(B)___ 
from the spinal cord to each of our organs 
since early stages of growth.
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36. 다음 글의 밑줄 친 부분 중, 어법상 틀린 것
은?16)

37.다음 글에서 필자가 느꼈을 심경으로 가장 적

절한 것은?17)

① annoyed ② relived

③ confused ④ concerned

⑤ impressed  

A fifteen-year-old girl by the name of Shane 
Gould arrived at the Olympic Games ①had 
broken the world record in swimming over 
every distance from 100 meters up to 1,500 
meters. She was a total phenomenon. Upon 
reaching the Olympic finals, Gould was 
confronted by her major rivals, ②who arrived 
on the pool deck wearing T-shirts with the 
words "Everything ③that glitters is not 
necessarily Gould." Think about that: 
world-class gold medal contenders ④indulging 
in psychological scorn? And the result of their 
trash talk? Gould became the first female 
swimmer to win three individual gold medals at 
an Olympics. What we learn from the 
perspective of her competitors ⑤is that you 
shouldn't focus on anything other than what 
you want. Don't be afraid someone else will 
win gold - go for yours. 

My father-in-law was a pastor. When he passed 
away, six thousand people paid their last 
respects at the funeral service. Many of them 
were the people he had given a sermon to for 
three decades, but some of them had never 
even met my father-in-law. They said that his 
radio broadcast had impacted their lives 
although they had never seen him in person. 
They came to honor his life and legacy. After 
the funeral service, a procession of cars drove 
to Naperville Cemetery for the graveside 
service. The police escort told us afterward that 
when the funeral coach pulled into the 
cemetery, cars were still leaving the church five 
miles away! That was his legacy - five miles 
of influence. 
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38.다음 글의 내용을 한 문장으로 요약하고자 한
다. 빈칸 (A)와 (B)에 들어갈 말로 가장 적절한

것은?18)

(A) (B)

① professionally ‧‧‧‧‧‧ comapring

② professionally ‧‧‧‧‧‧ combining

③ professionally ‧‧‧‧‧‧ associating

④ economically ‧‧‧‧‧‧ comparing

⑤ economically ‧‧‧‧‧‧ combining

39.글의 흐름으로 보아, 주어진 문장이 들어가기

에 가장 적절한 곳을 고르시오.19)

According to one story, a reporter asked Ruth, 
an outfielder for the New York Yankees in the 
early 1930s, whether he thought he made more 
money than President Hervert Hoover, who had 
a salary of only $75,000. Ruth replied, "I had 
a better year." In 2007, the salary earned by an 
average player on the New York Yankees was 
$4.8 million, and the top player Alex Rodriguez 
was paid $28 million. At first, this fact might 
lead you to think that baseball has become 
much more profitable over the past seven 
decades. But as everyone knows, the prices of 
goods and services have also risen significantly. 
For example, in 1930s you just needed a nickel 
to buy an ice-cream cone, but now you have to 
pay more than 1 dollar, sometimes much more, 
for a similar ice-cream cone. 

How you take notes in college may differ 
greatly from how you took them in high 
school. ①For example, you may be accustomed 
to copying notes from a blackboard because 
this was the way that notes were taken in high 
school. ②This will differ in college, where 
notes are not written on a blackboard for you 
to copy. ③So you need to take notes of the 
significant points made by your instructor by 
yourself during lectures. ④Some instructors may 
provide various types of handouts or other 
materials to be used as guides during lectures.
⑤ In addition, some of materials are detailed 
enough not to struggle with taking notes. 
Regardless of whether handout materials are 
provided, you have to develop your own 
personal method of shorthand and abbreviations 
that you will understand. 

Whether or not one has become ___(A)___ 
better than before is determined by ___(B)___ 
the current prices of goods with the past ones  
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40.다음 빈칸에 들어갈 말로 가장 적절한 것을

고르시오.20)

①get depressed 
②be haunted by the attack
③get over the tragic event 
④cooperate with others for recovery
⑤feel insecure about the national defense

41-42. 주어진 글 다음에 이어질 글의 순서로 가

장 적절한 것을 고르시오.21)

 

① (A) - (B) - (C) ② (A) - (C) - (B)
③ (B) - (C) - (A) ④ (B) - (A) - (C)
⑤ (C) - (A) - (B)

After the terror attacks of September 11, people 
who had previously been identified as 
high-resilient were twice more likely to 
_________ than the rest of the population. 
Researchers went back to people who'd scored 
high on resilience at the beginning of the year. 
Not only were they handling the 9/11-associated 
sadness better, but many of those high-resilient 
people actually had more thankfulness even 
during those traumatic weeks following the 
attacks. Even more interestingly, the researchers 
found, "Low-resilient individuals can benefit 
from positive emotions that high-resilient ones 
have during the coping process." In other 
words, even if thank-you power isn't a regular 
part of one's life, the person who looks for and 
counts the blessings he or she can find, will 
weather a crisis better. 

(A)
Similarly, the actual amount of water needed to 
manufacture a car is approximately 100,000 
gallons, and to build a new house requires 
roughly 1.25 million gallons of water.   

(B)
While some of such a large amount of water is 
needed for direct use like drinking, taking a 
shower and flushing the toilet, much of it is 
hidden water. 

(C)
For example, to make a cup of coffee actually 
takes about 37 gallons of water. A large 
portion of the water for the coffee went into 
irrigating the coffee plants on the coffee farm 
and washing, processing, roasting, packing, and 
transporting the coffee beans. 

The average person in the United States 
consumes about 500,000 gallons of water per 
year - that's about the same amount of water as 
there is in an Olympic-size swimming pool! 
Where does all that water go? 
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1) ②
2) ④
3) ④
4) ⑤
5) ⑤
6) ④
7) ④
8) ②
9) ⑤
10) ⑤
11) ③
12) ①
13) ①
14) ②
15) ①
16) ①
17) ⑤
18) ④
19) ⑤
20) ③
21) ③


